ShopRangeHoods

hgy@Nal ydz f
{fO0FAytSaa {0SSt wly3aS | 22R
2 ff az2dzylia hyfteé

Copyright ShopRaeaf@é&bBoods. com
Of fice: +H08@8626) 321
Emai | : support @shoprangehoods. com

Distributed by ShopRangeHoods.com
Manufactured by AKDY

FOR RESI DENTI AL USE ONLY I N US & CA
WARRANTY VOI D OUTSI DE US & CA

€Ib.

LISTED

Intertek



IMPORTANT SAFETY INSTRUCTIONS

WARNING: TO REDUCE THE RISK OF FIRE, ELECTRIC
SHOCK, OR INJURY TO PERSONS, READ THE
FOLLOWING:
m Use this unit only in the manner intended by the
manufacturer. If you have questions, please
contact the manufacturer.

Before servicing or cleaning the unit, switch the power off
and lock the service panel. This will prevent the power
from accidentally turning on. If the service panel does not
lock, secure a warning label, such as a tag, to the service
panel.

Installation work and electrical wiring must be done by a
qualified professional(s) in accordance with all applicable
codes, standards, and fire-rated constructions.

Do not operate any fans with a damaged cord or plug
Discard the fan or return to an authorized service

facility for further examination and/or repair.

To prevent back draft, sufficient air is needed for

proper combustion. Gas from fuel buming equipment
needs to exhaust through the flue (chimney). Follow the
heating equipment manufacturer's guideline and safety
standards such as those published by the National Fire
Protection Association (NFPA), the American Society

for Heating, Refrigeration and Air Conditioning

Engineers (ASHRAE), and the local code authorities.
When cutting or drilling into walls or ceilings; be aware of
electrical wires, piping, and other utilities.

Ducted fans must always be vented outdoors.
CAUTION: For general ventilation use only. Do not use
to exhaust hazardous or explosive materials and vapors.
CAUTION: To reduce the risk of fire and to properly
exhaust air, be sure to duct air outside - DO NOT vent
exhaust air into attics, crawl spaces, garages, or within
walls and ceilings.

WARNING: TO REDUCE THE RISK OF A RANGE TOP

GREASE FIRE, READ THE FOLLOWING:

m Never leave surface units unattended at high settings.

Boil-over can cause smoke and grease to spill over that

may ignite. Heat oils slowly on low or medium settings

Always turn the hood ON when cooking at high heat or

when flambéing foed (i.e. Crepes Suzette, Cherries

Jubilee, Peppercomn Beef Flambeé)

Clean ventilation fans frequently. Grease should not be

allowed to accumulate on fan or filter.

Use proper pan size. Always use cookware

appropriate for the size of the surface element.

WARNING: TO REDUCE THE RISK OF INJURY. IN

THE EVENT OF A RANGE TOP GREASE FIRE, READ

THE FOLLOWING:

SMOTHER FLAMES with a close fitting lid, cookie sheet, or

metal tray, then tumn off the burner. BE CAREFUL TO

PREVENT BURNS. If the flames do not go out immediately,

EVACUATE AND CALL THE FIRE DEPARTMENT.

NEVER PICK UP A FLAMING PAN - you may be burned.

DO NOT USE WATER, including wet dishcloths or towels -

a violent steam explosion will result.

Use an extinguisher ONLY if:

— You know you have a class ABC extinguisher, and you
already know how to operate it.

— The fire is small and contained in the area where it
started.

— The fire department is being called.

= You can fight the fire with your back to an exit

Based on "Kitchen Fire Safety Tips" published by NFPA.

1 WARNING: To reduce the risk of fire or electrical shock,

do not use this fan with any solid-state speed control
device.

Your safety and the safety of others are very important.
We have provided many important safety messages in this manual and on your appliance. Always read and obey all safety

messages.

This is the safety alert symbol.

This symbol alerts you to potential hazards that can kill or hurt you and others.

All safety messages will follow the safety alert symbol and either the word “DANGER” or “WARNING.”
These words mean:

DANGER
WARNING

You can be killed or seriously injured if you don't inmediately
follow instructions.

You can be killed or seriously injured if you don't follow
instructions.

1. Use
t he
2. Bef
nec
con
tag
3. 1ns
al |
4. Suf
(ch
man
Pr o
Con
5. Whe
ut i
6. Duc
7. Acc
I nt
8. Thi

CAU

1. Fo
vV a
2. Th
3. To
co
4. PI

r
p

n
e

uc
-

om

is unit o
nufacture

servicin
means t
ing mean
h ser

P
®» o o
=
o

‘o=
> 5 eo
Qs+t TS
" o
omw ——"= o
- So-—c

S mu s

for
egdted
mu st

~ 8 — 9 n—~ So@E—>
To > -

ener al
s .

product ca

oid motor
ruction du

e read spe

< 0o
so
=

o o

r
Cc
S

R

electrical wiring must be
s amat sed andmastdsyctineh udo chegs f
eeded for proper combusti on
urnin gui pment to prevent
standards such as
, and the American

and t |l ocal

e
wal | or eiling,

o=~ <woa
o
o

O~ TS O O

QO s o
o))

h
c

nted to the outdoo

or shower when co

t
cirec (ceiling install

ating use only. Do not wuse to

i tf h enofuln
and/ or

nsftta.l lerd mor e avkad Ve

damage and noi sy
etc. off power unit

ification | abel on product

be i
aring

for



TOOLS & PARTS REQUI REMENLS®CATI ON REQUI REMENTS VENTILATI ON REQUI REMENTS
* Electrical drill or ratchet @bsereve all governing codes anRapngdi haodssmusiavbeavgoalli ated to
* o1/ d0il | bit for drilling piltogac hmileisan install the&raergpohwediédtyieciheuliasing)ernstallatio
* 1iedrill bit for drilling eletcardampl ywiwiithnly iasteasls! switoil®en cl egarances specified on the model
* Screwdrivers Philips & Strasgrmitalplraating plate. D ”Oh ventilate the range hood
* pliers ] close areas.
* Cangpy hood's location should ®epagwayif nem St r oGy b A=t
* Tape measure or _ruler a”d_P%‘&d as windows, doors, and strong?1 heatiung?1 vengsy.gp' ) ¢ ry
Electrical supplies for wiring * The lengt of the range hood and
* Aluminum foil tape and/ or HVQ@QLbitra@te opening di mensions that aheus$owr Rept Be wsendni Gumen o p
* Hammer di mensions provide minimum clear anaGe e .
* Jigsaw or saber saw . .
* Stud finder ACountertop Height For the Most Efficient and (
PARTS SUPPLIED BHood height from ceiling to *oWse noofmotriee tthamgé hheed90®AIl elebow
: Bﬁ_dy & Main Unit: 1 pﬁ- surfabk€=BD * Make sure there is a minimum of
% IC |{“nn|e|y i\Apunt:VIng Blr.aclet.tl (?.59() (gdm) 6@min. from cooking Su’(fggé’weglr}gégsetg(ljbows I f more than
nsta ation anualf . se 310 (d®) 7Tmax Do ot Tnstall two el bows togeth
, Chimney Cover: 1 set - * Use clamps to seal all joints in
* Metal Greadep€slter: 1 DCeiling Height % P !
* Air Outlet & Air Damper: 1 ~-~* The vent system must have a damp
* Exhaust Pi e & Ducting: 1 has a damper, do not wuse the dam
* . b 9 ! range hood.
Hardware: 1 set * ) .
Use caul king to seal exterior wa
the cap.
* The size of the vents should be
B Makeup Air
Local building codes may require t
when using ventilation systems gre
movement. The specified CFM varies
— your HVAC professional for specifi
- .
Cold Weather I nstallations
M5 X 45 Screw (2 pc.) M5 X 18 Screw (2 pc.) An additional back draft damper sh

EE——_—n

&

10 X 38 Wall Anchor (2 pc.) M5 X 12 (2 pc.)

[ s

7.5 X 28 Wall Anchor (2 pc.) M5

Washer (2 pc.)

¥

X 8 Screw (2 pc.)

M5 X 8 (2 pc.)

backward cold air flow. A thermal
mi ni mi ze conduct i ern uafe so wtss ipdag tt eom
system. The damper should be on th
break. The break should be as cl os
vent system enters the heated port

Venting Met hod

This canopy hood is factory set fo
6" (15.2 cm) round vent system is
hood exhaust opening is 6" (15.2 c
wall, a 90A elbow is needed. I f ex
|l ess 5t. ®Bdmmmpn 50r i f flat ducting is
of the range hood wil!/l Il ncrease an
cient.

Rear Discharge

A 90A el bow may be installed i mmed



Recirculating I nstallations &

NotwWented (Recircul atCamgbBond nBitlatdratCaames GOrderi ng Carbon Filters

I'f it is not possible to vent €apkBongfiflumessahdveaporbetpeph@aedonpprbkemateby beeoydérednbhs
side, the hood cawmebtedséeédechnrdbapandnggven-the frequency of pbeneThEy wmrem&ﬁtsP)deesaﬁsmesraesd( gdnodr  Sal
sion, fitting a carbon filter méeusbd. mBleaseFuempkbaaedcaaponsfiakters s n
then recycled through the top gohgée.smelhbngbfDekhtaedclhmpesé\‘ac‘!]‘ glaqqeg)llgaéreedmednﬁlestpraetrsaV|gatlon
hol es and vents on either side. Cl iReekci rcul ating Kit
DO NOT WASH * Und®pti,oncsl i ck and choose your mc
Non-vented (recirculating)  Roof Venting DO NOT REUSE * Checkout to complete the orderin
%r\ A DO NOT OPEN
v
i -
| = | Chimney Covers

§ i %

\ \ Motor

X & Carbon Filter

X X Carbon Filter

X ﬁx Mesh or Baffle Filters
A. Chimney hole A. Roof cap
B.6" (15.2 cm) round vent B. 6" (15.2 cm) round vent *Range Hood Pictured Will Vary
I nstallation Steps for Recirculating
Prerequisites:
* 1 set of carbon filters (2 pcs.)
* Recirculating installation with chimney vents holes exposed
Step 1: Remove the mesh or baffle filters
Step 2: Locate the motor and the carbon filter clips on each side
Step 3: Pl ace the carbon filters into the corresponding ends of the

mot or
Step 4: Twist each carbon filter wuntil it clips into place



Cl

eaning & Mali

nt enance

Cleaning Mesh or BafiihpebBibfeMst al
Mesh and baffle filters can beMetskPaned with regul ar
di sh washing soap and hot water. Pl pace nyir al nves
cleaning filters to protect agai S e2asse
tion around sharp metal e ; 3
I ngredients /,/ﬁ‘,"
* Very hot or boi 28
* Di shwashing soa SCp®,
* Baking soda
* No#abrasive scru
* Dish cloth or p
I nstructions O
. . 0050 Vs 0
1. Remove the FiltersUfiaom ttthee Hc 000V
latch (on mesh filters only), remove
the range hood Baffl e:
2. Fill Your Sink Haot Hort Baatleirngw ™" _“_ "'
di ssolve hard grease and oi l k
3. Add Di shwashing SoapPour Diemr & e
ous amount of cleaning solutic
pletely dissolved in the water
4. Add Baking PYaudra i n baking sodze
5. Soak Mesh FAllacca syour filters
and let it soak for up to 30 r
6. Scrub the RARfteersoaking, take
or pad to further remove grease and oil
7. Rinse and LTetorDowygh!ly rinse B@iftftH eci damewBt er
and |l et dry them with a cloth nr nanar taowal <
8. Reinstall :tICarkiflutlelrys rei nst al
once fully dry.

Fil

househol gd¢

whil e

tetsterior Range Hood CI e
unit must be turned off before
%pE%%i_ng cleaner directly onto the
You can clean the interior of the
hold degreaser/ cleaner and a spong
qguite dirty, so make sure to use s
throwing away afterward.
Exterior Oven Vent Cl ea
The exterior of a vent hood may al
household degreasabriralsearerc| @emanasen
exterior range hood cleaning is a
incorporate it into your daily or
vent hoods have never been cl eaned
professional to do the job the fir
wi || be pretty messy.



Wa | | Mount Range Hood I nstal]l

Preparing Your Wall / Mounting I nformation

ATTENTI ON HOMEWe¢NsEeR:i nst al |l ati on steps are meant to be a gener al guideline
you require assistance, please contact your |l ocal contraacteemt rPil elkasef eixrejricri
shock. Building codes will &vareyw.polntsiibs Ititheg hwyd&moowr | ocrtlr xotumt y or state r eq

PREREQUI SI TES (FOR VENTED | NSTALLATI ONS)

* Preinstalled ventilation system and duct work

* Preinstalled outside duct cap or weatherproofing
PREPARI NG THE LOCATI ON

* ALl wall mounted range hoods need to be installed and s wptaooguredr dgyommaemde d
29-B81a, support system will need to be retrofitted to your egxisting cross be
* A -Brong US outlet will need to be installed behind the decorative chimney

MOUNTI NG SCREWS | NSTALLATI ON

* After determining the desired height, |ift the entire rAmgrkrehonet aofd hareds
guired. Ensure all surfaces are | eveled.

* DrBlIL6omnf)4.Bi | ot holes at all |l ocations where screws are being installed di

* Install two M5 X 45 mounting scr éwst owmdh gladp > el 8veveanl It haen awad rl s .a nlde avhee & ac k
range hood mounting bracket into place.

a"
(6.4 mm)

7/////T'




Wa | |

Mounting |

Mo U Nt

nf or mat

0]

Range Hood I nstall

ATTTENTI ON HOME@WNPBRop!l e wi l |
highly

the main unit. We
hands.
Diagram A: Hanging

Di agram B: Mounting

Ma i

t

he

n

Hanging the Main Unit
be required to Iift and hang
recommend professional help and an extra set of
. KEY
Uni t
* A M5 X45 mounting screws
* B Range hood mounting plate and sl ot
l.Level the range hood and tighten upper
2.Remove the mesh or baffle filters on t
the |l ocation of the | ower support scre
3.lnstall the two M5 X 18 | ower mounti ng
and secure the range hood to the wall
I nner Chi mneXEY
A Screw | ocation: desired height of
* B M5 X 8 screw
* C: I nner chimney mounting bracket
1. Mark the | ocation of the inner chimney
2.Mark the I ocation of the M5 X8 screw
3.Attach inner chimney, followed by oute



Wa | | Mount Range Hood I nstal]l

Mounting I nformation: Connect Exhaust Pipe

ATTENTI ON HOMBAMREWNERc | ude a c@dgnlpd stmecn teaxrhyau st

pipe for ease of installation. Pl ease check your || ocal building codes if ano
exhaust pipe is required to pass inspection.

. . KEY

Diagram C: Air Damper (Preassembl ed)

* A Air damper
c s B: M5 X 12 screw
*  C: Ai rNOTIEa Refmove shipping tape)

Diagram D: Attaching Exhaust Pipe
A Exhaust pipe

= & *  B: Air damper

-

1.Take exhaust pipe and fit it onto the
2.Use HVAC foil tape to secure the conne

3.NOTE Further ductwork may be required
the installation. Please check with yo
cap or outside weatherproofing.




Adjusting

Type

Contr ol

Panel

t

h e

Cl

0cC Kk

Clock Setting: Type A

Contr ol Panel
Contr ol Panel
Contr ol Panel

Type

Type

Type

B1l

B2

C

Step 1aarp)d hold for 3 secs.

Step 2ra¢)peated to set the hour.
Step SIacp) switch to mins.

Step 4aagpain repeatedly to set t
Step Saqpain to finish.

Clock Setting: Type B
Step 1aarpd hold for 3 secs.

Step ZQFprepeatedIy to set th
Step 3@Ia\>to switch to mins.
Step 4@®again repeatedly to

Step 5aagpain to finish.

Clock Setting: Type C

Step 1aarpd hold for 3 secs.
Step 2raeppeated|y to set the houl

Step 3|E}raeppeatedly to set the min:

Step 4aagoain to finish.




